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The question paper comprises two parts, Part I and Part II. .
Part I comprises Multiple Choice Questions (MCQs).

Part IT comprises questions which require descriptive answers.

Ensure that you receive the question paper relating to both the parts. If you have not received both, bring it to the
notice of the invigilator.

Answers to Questions of Part I are to be marked on the OMR answer sheet given on the cover page of descriptive
answer book only. Answers to questions in Part II are to be written on the descriptive answer book. Answers to
MCQs, if written inside the descriptive answer book or on Part-1 Question Paper will not be evaluated.

OMR answer sheet given on the cover page of descriptive answer book will be in English only for all candidates,
including for Hindi medium candidates.

The bar coded sticker provided in the attendance register, is to be affixed only on the descriptive type answer book.
You will be allowed to leave the examination hall only after the conclusion of the exam. If you have completed the
paper before time, remain in your seat till the conclusion of the exam.

Duration of the examination is 3 hours. You will be required to submit the descriptive answer book with OMR
cover page to the invigilator before leaving the exam hall, after the conclusion of the exam.,

The invigilator will give you acknowledgement on Page 2 of the admit card, upon receipt of the above-mentioned
items.

Candidate found copying or receiving or ﬁiving any help or defying instructions of the invigilators or having/using
mobile phone or Smart watch will be expelled from the examination and will also be liable for further punitive action.
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30 marks
Answer all questions.

Use HB pencil only to darken the circles for answers in the answer sheet.
After each question four alternative answers are given. Choose one of the answers and darken the appropriate
circle against the question number in the OMR Answer Sheet, completely, as shown below, with HB pencil.

Marking the Answers

Example : Not as shown below
For Question No. 12, if the candidate (Wrong method) :

considers the correct answer to be 12 @ @ @
C, he is to mark as shown below

(Correct Method) 2O
2A®®OO
2® ® @ 2AO®O®E

IVEON I JO),

Any answer marked in the question booklet or inside descriptive answer book will not be considered and no marks

will be awarded.

If a candidate wants to change the answer already darkened, he should erase it completely, with good quality
eraser and ensure that no mark is visible after erasing.

No mark will be awarded if no circle is darkened or more than one circle is darkened for a particular question.
There is no negative marking for a wrong answer.

Rough work, if any, must be done on the pages, specified as SPACE FOR ROUGH WORK only and nowhere else

in the question paper booklet or in the answer sheet.
Before commencement of the exam, please fill up the necessary information in the space provided below and also

in the answer sheet.

Total No. of Printed Pages : 24 Maximum Marks : 30

el Seri (VIATE 1 @)

Name of the Candidate

Signature of the Candidate
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This booklet is the property. of the Examination Body. Any
unauthorized and illegal circulation of its contents in part or in full in
any manner whatsoever is strictly prohibited. Candidates involved in
such unauthorized and illegal acts are liable to be prosecuted besides
being disqualified to appear in any further examinations of the

Examination Body.
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PART-I
Case Scenario-I :

Sagar Limited, an oil refinery uses Process -.Coéting for determining the cost of
each process. Management of Sagar Lir_nited is confused about method of
valuation of WIP. They have FIFO and Weighted Average Cost methods under

consideration.

Finance manager Mr. Sahil has put forward that Weighted Average Cost method
is suitable when there are significant fluctuations in price amd quantity. In this
method, calculation has to be done at every purchase and it is a complex and
time-consuming method.

He also stated that price and quantlty of input and output materlal of Sagar
Limited is almost same for whole year; hience FIFO method would be more
suitable for the company. He also revealed that in oil refinery industry; FIFO
method is preferred over Weighted Average Cost method and switching to FIFO

method will save time and money,

He further stated that by using FIFO method closing WIP is valued at current cost

and provided the following information :
Opening WIP : 12,000 Units, Total cost 1,66,200,
Degree of Completion:  Material . - 100%
Labour and Overhead - 80%
Material introduced : (74,500 Units) 3 4,76,465
Direct Labour < 3,70,395
Direct Overhead ¥2,96,316

VAE1(H)
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Units Scrapped : 1,900 units Degree of Completion : Material 100%
Labour and Overhead 70%
Closing WIP: 2,600 units Degree of Completion : Material 100%

Labour and Overhead 60%

Rest of the units were transferred to next process.

Normal Loss is 2% of total input unifs. including opening work-in-process.
Realizable value of normal loss is ¥ 2 per unit deducted from cost of material

introduced.
You are required to calculate the following using FIFO method (MCQs 1to 5) :
1. Equivalent units of Material and Matérial cost per unit

(A) 86,500 units and ¥ 5.50 per unit

(B) 74,500 units and ¥ 6.39 per unit

(C) 72,770 units and ¥ 6.50 per unit

(D) 72,600 units and ¥ 6.56 per unit

2.  Equivalent units of labour aﬁd overheads and total cost per unit
(A) 82,490 units and ¥ 8.08 per un
(B) 74,079 units and T 9.00 per unif,
(C) 75,290 units and ¥ 8.85 per unit

(D) 79,790 units and ¥ 8.35 per unit

o VAE1(H)
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3. Value of abnormal loss to be shown in process account
(A) T2,176.00
(B) 2,182.00
(C) T2,168.35

(D) ¥1,896.52

4. Value of units transferred to next process
(A) T11,10,660
(B) ¥12,75,600
(C) T12,51,200

(D) T12,72,800

5. Value of closing WIP
(A) 31,096
(B) T31,044
(C) ¥30,940

(D) 28,340

=y VAE1(H)
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Case Scenario-II :

FW Limited manufactures various types of footwear and covers a considerable
market share. The footwear made by company are stylish and durable. The
management calls for an urgent meeting because it has come to their notice that

two of their old permanent customers have moved on to its competitors.

Marketing Manager has stated that thére‘are circumstances when company cannot
fulfill the demand of their customers (due to shortage of supply and this is the

main reason for move on.

Production Manager has stated that production team is working efficiently but
workers have to wait long enough for raw material which leads to idle time and

low production.

The cost accounts department of FW Limited has furnished the following data for

the component B :

Purchase Price % 4,800 per unit

Trade Discount 2% of purchase price

Total duties (No Credit availed) 8% of purchase price
Insurance Charges .. 62,000 per year

Units purchased during the year 60,000 units

Opening Stock > 5,000 units @ ¥ 5,150 per unit
Closing Stock . 4,500 units

o VAE1(H)
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Usages per week Delivery period
Minimum 1,050 units Mi#imﬁlll 5 weeks
Maximum 1,200 units Maxinium 9 weeks

Average 1,125 units Averege 7 weeks

Lead time for emergency purchases is 2 weeks.
Additional Information :

e Normal wastage during the storage is 80 units (no realizable value) and

abnormal wastage is 40 units.
®  Factory works for 365 days in a year.
You are required to calculate the followings (MCQs 6 to 10) :
6. Calculate per unit cost of material by using Average Price Method.
(A) 5,100
B) 5,119
(C) ¥5,094
(D) 5,133

VAE1(H)
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Calculate minimum stock level.
(A) 10,800 units

(B) 7,825 units

(C) 5,250 units

(D) 2,925 units

What will be danger level of stock ?
(A) 2,400 units
(B) 7,875 units
(C) 2,250 units

(D) 2,240 units

Calculate average number of days (round off) for which average inventory

level to be held.
(A) 27 days
(B) 29 days
(C) 26 days

(D) 30 days

VAE1(H)
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Calculate amount of Abnormal Loss during storage to be transferred to
Costing Profit & Loss Account (based on average price)

(A) T 2,04,000
(B) % 2,04,760
(C) %2,03,760
(D) ¥2,05,320

PS Limited is facing downfall in its demand. Marketing team has suggested
to reduce the selling price by 5% to compete in the market. Variable cost is

76% of the current selling price.

You are required to find out the P/V Ratioafter reducing the price by 5%.
(A) 20%

(B) 24%

(C) 25.26%

(D) 19%

In the automotive manufacturing sector, @ ¢omponent is manufactured. The
Economic Order Quantity (EOQ) for this-ecomponent is 1,500 units. The cost
of placing an order is ¥ 100, and the carrying cost per annum is 10%. The

cost per unit of component is ¥ 20.

Calculate the annual demand for this specfﬁc automotive component.
(A) 45,500 units

(B) 75,000 units

(©) 36,000 units

(D) 22,500 units

VAE1(H)
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In a mutual project, both Raj and Bhuvan are contributing their efforts,
using identical materials. Raj receives a bonus based on the Rowan plan,
while the Halsey plan determines ‘Bhpvan’s bonus. The standard time
allocated for the project is 150 hours. Raj-¢ompletes the project in 90 hours,
while Bhuvan finishes it in 120 hours. Thé normal hourly wage rate for Raj

is¥ 30‘. The total earnings for both workers are equal.
Calculate the normal hourly wages rate to be paid to Bhuvan.
(A) T26.50

(B) ¥24.00

(©) T22.50

(D) % 28.00

On 01-04-2023 number of workers employed in a factory was 150. During
the year 30 workers resigned and 5 workers were discharged. Due to
resignation and discharge, 15 workers were replaced. For the year 2023-24,

labour turnover rate by separation method will be :
(A) 21.43%

B) 18%

©) 25%

(D) 30%

VAE1(H)
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15. A Chemical is passed through three processes and the output of Process 1
Account is transferred to Process 2 Account. The input units in Process 1
are 58,500 units and the output units are 55,200 units, normal loss is 2%

and rest is abnormal loss.

You are required to calculate the per utif cost of output units in Process 1

Account, if the total expenses incurred in,Process 1 are ¥ 6,87,960.
(A) X11.76
(B) X 12.00
©) T12.20

(D) T12.46

VAE1(H)
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(Hindi Version)
Case Scenario-1: _
R fafiee, u da e, S T 6t o fRuifa w0 $ o gfr
T ggfer T T et AR fafiee w1 e wfskamelit Rt % et
) fafr & I & oreqe B | 39 foe wem o wew fetw v sl aftea @mma
foftrat fermud= & |
ot weierh i wifee & HER, &1 qod 3R A6 # ST SaR-9¢d o,
&l Wi 3fied TTa Tgfd SHYT B | 36 USHd A T 5 W IT0AT HATEwHh 9
& 1 et 2 T 8 T S T o e v |
37 A AR fafies & Srd W Frfw ammft i g qun aen R o & e
THH T ] ara: gum yasiayw i vgfa werh % foTw s S gt |
3% 7 off german foran fo Ao My 3eim & wiia sivaa s vgfa Y geen o
Yo Yaw e vt wgfe Swar @ aun wem e e ffn wgf i st wm
3R 7 Y s=q HUT |

IR A A 6 e e i vgfa % smta Sfwe wrE % sifem
WER 1 Yoot ST AT SRS STt & e frferRaa geemd wew # :

TR Tfspameia Rt — 12,000 15T, F @G T 1,66,200
FEUIAT T &R ;G — 100%

qH TG AT —  80%

o VAE1(H)



(13)
VAE1(H)

TRI ATt (74,500 $R1EAT) T 4,76,465

T o 2 3,70,395

T ST 22,96316
T : 1,900 SHTEAT atcgpfamr_-W:mnzﬁ — 100%
a:rqa'strﬁwa - 70%

sfer ufsramefim st . 2,600 geTRAT
wrpfar s & 't~ 100%
9 T ST ~  60%

I THIEAT P ST TR § ARG b T | G B et T grsat
(I el Rl Y Sieet) % ANT Bl 2% & AU G BN T g
T 7 2 IR 5T 2 R sy et oY e @ e e |

IR o v W wum e wgfa w1 i ta gu FEfaRaa agloeedt SR %
IR e € : (MCQs : 18 5)

1. T < weee g o AT
(A) 86,500 FTEaT Wa ¥ 5.50 Hheh 518
(B) 74,500 15T T T 6.39 Wfel 518
(C) 72,770 3HTgAT T X 6,50 el FHTE
(D) 72,600 3h1gaT T % 6.56 Ufc 313

VAE1(H)
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97 F IIRTA < THHE FHTIAT AT o AT Tl TH1E
(A) 82,490 THIEAT T € .08 ¥ g
(B) 74,079 ShISAI @ 3 9.Qo_sr1%1 THTE
(©) 75290 mzﬁ qa % 8.85.Wfc 3h1E
(D) 79,790 THIEAT TS T 8.35 Wil 313

wfsha @ra # fegrt s areft st T 6 e
(A) %2,176.00
(B) %2,182.00
(C) T2,168.35
(D) % 1,896.52

Tt AfsRAT H TUMTNG $h1Eal 1 Jed
(A) T 11,10,660
(B) T 12,75,600
(C) T12,51,200
(D) T 12,72,800

3ifem wfsraneia Rl 1 ge
(A) T31,096
(B) 31,044
(C) 730,940
(D) 28,340
VAE1(H)
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* Case Scenario - II :

meﬁm%wwmw%wmwmﬁw
W 8 .m%mm@wwamﬁ | FE 4 T AT
T Tl ifh 37 W 3 S o e <) G TR e S W 3
TE TR T E |

feraur seeers 3 wamn % go wRiRaft § oyl # w5t % wror e o
ATEDY 1 A hY G T F wwt & SN ATER] S A 9 g FROTE |

STAE Sash 3 ST o6 I oo Fueran & H @ 2, A g B
aﬁﬁmwaﬁmwﬁwmm%sﬁﬁr@mwaﬂtwm
HTHRT R |

FW frfies & wm = e fam 3 e, avie wew B ¥ ded  weqe
69

EXR ¥ 4,800 A 37E

TR §e 3 e T 2%

F I (T R k¥ T foran ) % T 1 8%,

ST ek 262,000 SR
aﬁ%a*mmﬁﬂéﬁsﬁ 60,000 3HTEAT

IR @i 5,000 H1FAT @ T 5,150 9 378
3ferm Efer 4,500 FeRTETT
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ST g qwarg ggaa i aafy
= 1050 TFTEAl | R | 5w
3tftreaH 1,200 SehTEAT aaﬁrm ' 9 TR
e 1,125 gl | Ed 7 TR
FTTehTeT 3h B THY JTafY 2 T8 § |
e g=md :

o  ERul H W ST 80 T (YR e ) T HARA HIE
40 whrgat & | -

o FHr@EFIay H 365 fe forarsfiet war @ I;

AR Fr=ferRaa et % Iad T 3r9am H It ® : (MCQs 6§ 10)
6. oima gew fafty & wft i wi geptd wmve Y TorT HRTY |

(A) 5,100 (B)-% 5,119
(C) 25,094 (D)X 5,133

7. aw el & <t o H |
(A) 10,800 gehrgaf (B) 7,825 gehrsaAl

(C) 5,250 FhIEAT (D) 2,925 FehTgal
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e o T 1 Wik 91 &I 7
(A) 2,400 ZH1EAT
(B) 7,875 gehTeal
(©) 2,250 FHT=AT
(D) 2,240 THTEAT

3 ferii 1 wea (Fereaw) #it morn Hifve R safts 3 e stea gt
TR & @AY |

A) 27f=
(B) 29f=
© 26f
(D) 30fe

AT AH-FI Gl 3 ARG A &1 FSRUT 6 SN "= &1
<A1 TR <Y TTorn A (fa e F SER W) |

(A) 2,04,000

(B) ¥2,04,760

(C) %2,03,760

(D) ¥2,05320

VAE1(H)
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ps fafies wfm % R 3¢« &1 9w W @} | fowoe g X IR §

wyt § @ % e fsra g Y S%ﬁmﬁamgsnaﬁﬂﬁ | ftadreier
AT ST feR o 1 76% B | |

T Y 5% § TEM % «1g SR FT-<T Wﬁmﬁﬁ T 6l AT
2

(A) 20%
(B) 24%
(C) 25.26%
(D) 19%

e fat & § e ues Fififa 8ar 2 | 38 ues it anfRiss aew
T (EOQ) 1,500 FHTeal & | IRW & i AT T 100 T Wfcas g Hl

AT 10% & | 512 Y Wi 318 AF K20 R |
fafirs arfdmfea wew 61 arftes wim hLamET HifvT |
(A) 45,500 Feh1SAT

(B) 75,000 $h1gAT

(C) 36,000 IHIFAT

(D) 22,500 HIAT

VAE1(H)
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13. T ISR qRESHT § S9H w1 SR R T U IR 9E, N1

14.

Y TAAT T ANGH R & | T Vo o1 R UG G 5T HTll
3 JEfh ge8 AT Yo 1 S Fufa s ] | e Y el
A TW 150 90 § | TS TRASHT Y 90 TU # T el 8, Fale
Ho 120 9 T TS AT 8 | TS RN A= &7 <X T 30 Wi wver & |
aﬁa&lﬁﬁ%wﬁwélaﬁaﬁwwﬁ%mmuﬁ
HUT HH T I TUHT I | '

(A) T26.50
(B) ¥24.00
(C) T22.50

(D) % 28.00

1-4-2023ﬁ@wﬁﬁﬁgaﬁ$ﬂmnﬁaﬁéw 150 <ft | a9 & g 30
st X st 3 R o 5 i Y detigE R T | Tei
3R Farfgha % HRO 15 HHEr sfeeenfia f63 1 ) 2023-24 o€ & frg
JTCRTIS SOTTE! 3 & HHERI SHeNaR 6l g &l :

(A) 21.43%
(B) 18%
©) 25%
@) 30%
VAE1(H)
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15. U WA d19 9BERatt & gt Torar § 3R IfRaT 1 o1 Seare wishan 2 §

WG Bar & | Sk 1 ) 3mia gehmsar 58,500 & et ffa gepreat
55,200 &, TTHT B 2% & & A9 AW T R |

IR wfskaT 1 | IeqTfed gehrEAl Y Wi 3T AT Y TOAT HY AT HY
m%,ﬂﬁufm’Mﬁgamts,sﬂ%omwal 2

(A) T11.76
(B) T12.00
(C) T12.20

(D) T 12.46
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Space For Rough Work

VAE1(H)



(22)
VAE1(H)

Space For Rough Work
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